District School Board of Pasco County Bid Recommendation

Bid Title	WEIGHTLIFTING EQPT FHS	Number of Vendors Notified	80
Bid Number	11-024-GF	Number of Bids Distributed	11
Date Solicited	April 20, 2010	Number of Vendors Bidding	3
Date Opened	May 13, 2010	Number of Vendors Not Bidding	8
Date Board Presentation	June 1, 2010	Funding Source	Capital
Total Savings	\$1,030.00	Grand Total of Bid	\$41,005.13

Recommendation: Recommend acceptance of bid as noted on attached bid tabulation sheet as lowest and best responsive, responsible bid meeting written specifications from Promaxima Manufacturing.

<u>Term of Contract</u>: This bid is for the purchase of weightlifting equipment for Fivay High School.

Notations and Exceptions: Recommend rejection of low bid from USA Fitness for the following:

- 1. Items #2 and #39 did not provide cut sheets or specifications as required in the bid documents.
- 2. Item #4 did not meet specification for weight storage.
- 3. Item #11 issues with stability.
- 4. Item #41 no spotter stand or panic holder as required in the specifications.

The school would like to reject items #8 and #9 and purchase two machines that have both capabilities in one machine on the open market.

Offers from the vendors listed herein are the only offers received timely as of the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

<u>Bids Evaluated By</u>: Matt McDermott, Assistant Principal, Fivay High School Chris Taylor, Football Coach, Fivay High School

Bids Prepared By: Gail Fowler, CPPB, Buyer

Reviewed and Authorized By: Kendra D. Goodman, CPPB, Purchasing Agent

Date/Time: May 26, 2010 08:02:00

DATE OF OPENING: MAY 13, 2010 2:30 PM		Fitrev, Inc.		Promaxima Manufacturing			
		4424 N. Lois		5310 Ashbrook		3456 Hill Street	
BID #: 11-024-GF		Tampa, FL 33	3614	Houston, TX	77081	Huntington Pa	rk, CA 90255
ITEM #	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	THREE WAY HIP AND LEG SLED (1)			995.00	995.00		
	(Alternate)	1,905.00	1,905.00			950.00	950.00
	1 FO OURL (1 FO EVITENCION (4)			225.22	225.00		
	LEG CURL/LEG EXTENSION (1)	750.00	750.00	335.00	335.00		215.00
	(Alternate)	750.00	750.00			315.00	315.00
2	DEAD LIFT STAND (3)			85.00	255.00		
	(Alternate)	445.00	1,335.00		233.00	85.00	255.00
	(Accinace)	443.00	1,555.00			03.00	233.00
4	STANDING CALF MACHINE (1)			295.00	295.00		
	(Alternate)	575.00	575.00		200.00	295.00	295.00
	(0.000				
5	FOUR WAY NECK MACHINE (1)			335.00	335.00		
	(Alternate)	1,190.00	1,190.00			315.00	315.00
			·				
6	HIGH LAT LOW ROW (1)			349.00	349.00		
	(Alternate)	800.00	800.00			349.00	349.00
7	PREACHER CURL (1)			235.00	235.00		
	(Alternate)	435.00	435.00			225.00	225.00
8	RAPTOR OPLYMIC DECLINE BENCH PRESS (1) REJECT			450.00	450.00		
	(Alternate)	800.00	800.00			450.00	450.00
9	INCLINE BENCH PRESS WITH SPOTTER STAND (1) REJECT			325.00	325.00		
	(Alternate)	800.00	800.00			325.00	325.00
10	POLYMETRIC STACKABLE BOXES (2)			345.00	690.00		
	(Alternate)	580.00	1,160.00			325.00	650.00
1.0	DOMANI CHAID (1)			0.45.00	0.45.00		
11	ROMAN CHAIR (1)	415.00	415.00	245.00	245.00		225.00
	(Alternate)	415.00	415.00			235.00	235.00

		Fitrev, Inc.		Promaxima M			
				5310 Ashbrook		3456 Hill Street	
BID #: 11-024-GF		Tampa, FL 33	3614	Houston, TX	77081	Huntington Pa	rk, CA 90255
ITEM #	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
12	ADJUSTABLE BENCH (3)			250.00	750.00		
	(Alternate)	435.00	1,305.00			250.00	750.00
					227.22		
13	THREE TIER DUMBBELL RACK (1)	505.00	505.00	325.00	325.00		222.22
	(Alternate)	535.00	535.00			320.00	320.00
1.4	OLYMPIC DI ATT LIOLDED (2)			45.00	125.00		
14	OLYMPIC PLATE HOLDER (3) (Alternate)	80.00	240.00	45.00	135.00	45.00	135.00
	(Alternate)	80.00	240.00			43.00	133.00
15	OLYMPIC BAR HOLDER (2)			95.00	190.00		
13	(Alternate)	115.00	230.00		190.00	90.00	180.00
	(Aitemate)	113.00	230.00			30.00	100.00
16	PLATE RACK WITH WHEELS (5)			150.00	750.00		
	(Alternate)	160.00	800.00		7 30.00	140.00	700.00
	(/westriates)	100.00	000.00			1 10.00	7 00.00
17	6' X 8' OAK CENTER PLATFORMS (5)			1,095.00	5,475.00		
	(Alternate)	1,035.00	5,175.00		0, 11 0100	1,050.00	5,250.00
		,	,			,	- ,
18	5LB. TO 100 LB. SET #5 HEX RUBBER DUMBBELL SET (1)			2,100.00	2,100.00		
	(Alternate)	2,235.00	2,235.00	, i	·	2,100.00	2,100.00
						,	
19	BUMPER WEIGHT SET (5)			385.00	1,925.00		
	(Alternate)	295.00	1,475.00			300.00	1,500.00
20	HARDENED CHROME OLYMPIC BAR (15)			250.00	3,750.00		
	(Alternate)	170.00	2,550.00			150.00	2,250.00
21	ALUMA-LITE BAR (2)			125.00	250.00		
	(Alternate)	130.00	260.00			95.00	190.00
	OLYMPIO 57, OURL, DAR. (4)			10.00			
22	OLYMPIC EZ CURL BAR (1)	40.00	40.00	40.00	40.00	20.00	20.00
	(Alternate)	40.00	40.00			29.00	29.00
22	OLYMPIIC DLATE 2 E LDC (20)			2.20	46.00		
	OLYMPIIC PLATE 2.5 LBS. (20)			2.30	46.00		

DATE OF OPENING: MAY 13, 2010 2:30 PM		Fitrev, Inc.		Promaxima M	lanufacturing	USA Fitness	
BID TITLE: WEIGHTLIFTING EQUIPMENT - FHS		4424 N. Lois		5310 Ashbrook		3456 Hill Street	
BID #: 11-024-GF		Tampa, FL 3	3614	Houston, TX	77081	Huntington Pa	rk, CA 90255
ITEM #	DESCRIPTION				TOTAL PRICE	UNIT PRICE	TOTAL PRICE
	(Alternate)	1.60	32.00			1.75	35.00
24	OLYMPIIC PLATE 5 LBS. (30)			4.60	138.00		
	(Alternate)	3.20	96.00			3.50	105.00
2.5	OLYMPIIC PLATE 10 LPC (20)			0.20	270.00		
25	OLYMPIIC PLATE 10 LBS. (30)	0.50	105.00	9.20	276.00		210.00
	(Alternate)	6.50	195.00			7.00	210.00
26	OLYMPIIC PLATE 25 LBS. (30)			23.00	690.00		
20	(Alternate)	16.00	480.00		690.00	17.50	525.00
	(Alternate)	16.00	460.00			17.50	323.00
27	OLYMPIIC PLATE 35 LBS. (20)			32.20	644.00		
	(Alternate)	22.00	440.00		044.00	24.50	490.00
	(Aitemate)	22.00	440.00			24.50	430.00
28	OLYMPIIC PLATE 45 LBS. (40)			41.40	1,656.00		
	(Alternate)	29.00	1,160.00		1,000.00	31.50	1,260.00
	(/westriates)	23.00	1,100.00			31.30	1,200.00
29	OLYMPIIC PLATE 100 LBS. (2)			92.00	184.00		
	(Alternate)	63.00	126.00			70.00	140.00
30	CUSTOM CHAIR SLIP COVERS WITH LOGO (5)			20.00	100.00		
	(Alternate)	125.00	625.00			20.00	100.00
31	LIFTING BAND LOW RESISTANCE YELLOW (4)			9.99	39.96		
	(Alternate)	34.00	136.00			10.95	43.80
32	LIFTING BAND MEDIUM RESISTANCE PURPLE (4)			19.99	79.96		
	(Alternate)	40.00	160.00			18.95	75.80
33	LIFTING BAND HEAVY RESISTANCE PURPLE (4)			24.99	99.96		
	(Alternate)	48.00	192.00			28.95	115.80
L .							
34	ULTRA PRO HALF RACK (5)	070.00	4.050.00	1,295.00	6,475.00		0.475.00
	(Alternate)	870.00	4,350.00			1,295.00	6,475.00
2.5	LILTRA DDO LOCK AND DOCK MORK BENCH (5)			450.00	2.250.00		
35	ULTRA PRO LOCK AND DOCK WORK BENCH (5)			450.00	2,250.00		

		Fitrev, Inc.			lanufacturing		
				5310 Ashbrook		3456 Hill Stre	
BID #: 11-024-GF		Tampa, FL 33	3614	Houston, TX	77081	Huntington Pa	rk, CA 90255
.==	DESCRIPTION						
ITEM #	DESCRIPTION				TOTAL PRICE	UNIT PRICE	TOTAL PRICE
2.0	(Alternate)	625.00	3,125.00		10.00	400.00	2,000.00
36	REVOLVING STRAIIGHT BAR (1)	1.0.00	16.00	18.00	18.00		25.00
	(Alternate)	16.00	16.00			25.00	25.00
27	SOLID TRIICEP PRESS BAR (1)			18.00	18.00		
31	(Alternate)	15.00	15.00		16.00	20.00	20.00
	(Alternate)	13.00	13.00			20.00	20.00
38	TRIICEP ROPE PULL DOWN (1)			29.00	29.00		
30	(Alternate)	20.00	20.00		25.00	20.00	20.00
	(Micornaco)	20.00	20.00			20.00	20.00
39	20" V-HANDLE TRICEP BAR (1)			18.00	18.00		
	(Alternate)	22.00	22.00		. 0.00	22.00	22.00
	(National Control of C						
40	OLYMPIC LOCKJAW COLLAR (15)			38.95	584.25		
	(Alternate)	31.00	465.00			35.00	525.00
41	RAPTOR OLYMPIC BENCH (5)			450.00	2,250.00		
	(Alternate)	545.00	2,725.00			425.00	2,125.00
42	POWER TRAINGER LEVERAGE PLATE LOADED (1)			1,195.00	1,195.00		
	(Alternate)	1,260.00	1,260.00			1,120.00	1,120.00
43	COMBO CHEST PRESS/FLY BODY MACHINE (1)			1,595.00	1,595.00		
	(Alternate)	1,625.00	1,625.00			1,495.00	1,495.00
4.4	COMPONING ATERNAL (SEATER CARLE POWER (41)			1 405 00	1 405 00		
44	COMBO HIGH LATERAL/SEATED CABLE ROW MACHINE (1)		1.625.00	1,495.00	1,495.00		1 425 00
	(Alternate)	1,625.00	1,625.00			1,425.00	1,425.00
45	INICTALLATION		4 100 00		650.00		1 500 00
45	INSTALLATION FREIGHT		4,100.00		1,050.00		1,500.00
	TOTAL "ALL OR NONE" BID PRICE:		48,000.00		41,780.13		37,620.40
	TOTAL ALL UN NOINE DID PRICE.		40,000.00		41,700.13		37,020.40